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just asked, the first survey that comes in to be recorded 
in the repository will have a fee....
SENATOR CLARK: Yes.
SENATOR KAHLE: ..'..so they will have the money to send
tLe copy back to the county.
SENATOR CLARK: Yes. Okay, thank you.
PRESIDENT: Senator Kahle, you may close then on your....
you may close on your motion to return.
SENATOR KAHLE: I don’t want to take a lot of time but
I think that most of the questions have been asked. And 
Senator Clark is right, that was the reason that the 
counties objected because they would have to pay a fee 
then for everything that they brought into the repository 
which would almost kill the repository situation, because 
I personally don’t feel that the counties when they do 
their own work for their own county should have to pay, 
and that is the reason that we have added that last part 
of the amendment. So I think we have a good bill now.
I think we will have a repository. I think we will have 
good records because those counties that do keep good 
records are certainly going to keep them up and those that 
don’t are going to have a little better chance, at least 
if the work is done in their county it will be on record 
at the state and also somewhere in the county. Even if the 
records aren’t kept well, they will still have a copy of 
it the box somewhere as they do now. So I certainly 
support this amendment. I think this is a good idea and 
so I urge you to bring the bill back and add this amend­
ment .
PRESIDENT: All right, the question is the motion to
return LB 127 for the Kahle specific amendment. All those 
in favor vote aye, opposed nay. Record the vote.
CLERK: 29 ayes, 2 nays on the motion to return the
bill, Mr. President.
PRESIDENT: The motion carries. The bill is returned.
Senator Kahle, do you wish to move the adoption of the 
amendment?
SENATOR KAHLE: I now move that we adopt the amendment

- that has been passed out and is cefGre you.

PRESIDENT: Any further discussion on the adoption of
the Kahle amendment? Hearing none, the question then is
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